2023 Season for Potten End Cricket Club

Please note that the statistics are only as good as the raw data provided in scoresheets, so may not completely reflect what happened – if it's not on the scoresheet, it's not in here! Additionally, the report may not exactly tally with statistics on play-cricket, as I have had to manually adjust to remove midweek cup games and any other T20 matches.

This is just a summary report, as the current stats reporting tools on play-cricket make it too difficult to report in the way that has been done in the past. If you require more detail, log in to our play-cricket website to look at individual performances.

Fixtures

Played 60 Won 22 Drew 0 Lost 25 Tied 1 Abandoned/Cancelled 12

Centuries

138*	Azeem Akhtar	Vs	Chinar CC	04-Jun
136*	Azeem Akhtar	Vs	Full Tossers	21-May
125*	Tru Patel	Vs	Uxbridge	18-Jun
121	James Hayes	Vs	Boxmoor III	19-Aug
113*	Haseeb Ashraf	Vs	Octopus CC	17-Sep
112	Azeem Akhtar	Vs	Studham	02-Jul

5 wickets in an innings

6-9	Seb Hunter-Ward	vs	Boxmoor III	19-Aug
5-14	David Raeburn	Vs	Boxmoor III	17-Jun
5-22	Jamess Pickard	Vs	Leverstock Green II	01-Jul
5-24	Will Hill	Vs	Bentley Heath	03-Jun
5-45	Harry P	Vs	Northwood	25-Jun
5-50	Steve Wise	Vs	St Albans	28-May

Most Runs in the season	1 _{st} XI	Azeem Akhtar	1401	2nd XI James Hayes	323
Best Batting Average	1st XI	Azeem Akhtar	50.04	2nd XI James Hayes	46.14
Most Wickets in the season	1st XI	James Pickard	36	2nd XI David Raeburn	25
Best Bowling Average	1st XI	Junaid Ashiq	10.75	2nd XI Seb Hunter-Ward	7.55
Most catches	1 _{st} XI	Azeem Akhtar	15	2nd XI John Peppett	5

League Teams - Saracens Herts League

1st XI Division 5A Played 18 Won 7 Lost 7 Rain 4 321 points finished 6th

Highest Individual Score Haseeb Ashraf 95 v Leverstock Green II
Best Bowling James Pickard 5/22 v Leverstock Green II

Most Runs James Pickard 418 Most Wickets James Pickard 23

2nd team Reg. Division 11 West Played 15 Won 7 Lost 3 Rain 5 304 points finished 3rd

Highest Individual Score James Hayes 121 v Boxmoor III Best Bowling Seb Hunter-Ward 6/9 v Boxmoor III

Most Runs James Hayes 290 Most Wickets David Raeburn 22

Chess Valley Sunday League

Division 2 – Played 7 Won 0 Lost 6 Tied 1 2 points finished 8th

1st team League and Friendly Results

Played 42 Won 15 Lost 19 Tied 1 Cancelled/abandoned 7 See main

website for detailed results

Batting averages - all 1st team games.

Player name	Runs	Completed innings	Average
Sajjad Hussain	53	1	53.00
Azeem Akhtar	1401	28	50.04
Michael Gurney	382	8	47.75
Ansar Ahmad	37	1	37.00
James Pickard	693	19	36.47
Saj Hussain	34	1	34.00
Harry Lee	291	10	29.10
Haseeb Ashraf	747	28	26.68
Tru Patel	279	12	23.25
Junaid Ashiq	232	12	19.33
Jess Harding	38	2	19.00
Kaiz Ul Haq	371	20	18.55
Ian Dyde	201	11	18.27
Ali -	17	1	17.00
Sam Stride	191	12	15.92
Izhar Ahmed	121	8	15.13
- Gotham	14	1	14.00
Billy Ahmed	26	2	13.00
Owais Ul Haq	178	14	12.71
Hari Harikrishnan	12	1	12.00
James Hayes	35	3	11.67
Naveed Malik	11	1	11.00
Steve Fowles	22	2	11.00
Callum McCarthy	42	4	10.50
Asif -	10	1	10.00
Paddy Ashton	20	2	10.00
Raja Palaniappan	59	6	9.83
William Hill	28	3	9.33
Hassan Nadem	9	1	9.00
Rohith Reddy	69	8	8.63
Anees Ashraf	34	4	8.50
Saiteja Reddy Ganuthala	27	4	6.75
Ryan Luke	18	3	6.00
Andy Lee	35	6	5.83
Ovais Ahmed	15	3	5.00

John Peppett	8	2	4.00
Steve Wise	26	8	3.25
Ajay Hari	3	1	3.00
Hari Nagarajan	11	4	2.75
Gowtham Palanivel	24	9	2.67
Jason Lee	12	6	2.00
David Raeburn	1	1	1.00
Muneeb A	1	1	1.00
Omar -	1	1	1.00
Ravi Hindocha	1	1	1.00
Jack Palaniappan	4	6	0.67
Alwin Rasul	0	1	0.00
Andy Codling	0	1	0.00
Benjamin Collins	0	1	0.00
Chris Ritson	0	1	0.00
Frankie Harding	0	1	0.00
Jason Hawkridge	0	1	0.00
Matt Dickson	0	2	0.00
Saiteja Januthalea	0	1	0.00
Tim White	0	1	0.00
W Al Hassan	0	1	0.00
Harry Hayes	0	0	n/a
Harry P	9	0	n/a
Naveed Aslam	0	0	n/a
Peter Raeburn	4	0	n/a
Saiteja Reddy	0	0	n/a
Seb Hunter-Ward	5	0	n/a

Bowling averages – all 1st team games (min 50 overs)

Player Name	Overs	Maidens	BowlingRuns	Wickets	Average
Junaid Ashiq	96	15	258	24	10.75
James Pickard	141	22	582	36	16.17
Michael Gurney	66	6	285	13	21.92
Jack Palaniappan	101	4	608	22	27.64
Ovais Ahmed	65	5	299	10	29.90
Ian Dyde	88	6	421	14	30.07
Kaiz UI Haq	63	3	369	12	30.75
Steve Wise	105	8	602	18	33.44
Callum McCarthy	63	5	348	8	43.50
Also bowled					
Maneesh Hari	5	1	12	2	6.00
Muneeb A	6	0	32	5	6.40
Ajay Hari	3	0	14	2	7.00
William Hill	37	9	90	12	7.50

Ali -	5	1	29	3	9.67
Frankie Harding	1	0	11	1	11.00
W Al Hassan	9	1	27	2	13.50
Asif -	8	3	28	2	14.00
Jess Harding	6	0	32	2	16.00
Izhar Ahmed	4	1	33	2	16.50
Tim White	7	1	17	1	17.00
Harry Lee	31	0	200	9	22.22
David Raeburn	15	3	67	3	22.33
Andy Lee	37	3	224	9	24.89
Owais UI Haq	43	2	299	12	24.92
Billy Ahmed	12	0	76	3	25.33
Gowtham Palanivel	21	1	135	5	27.00
Benjamin Collins	19	2	109	4	27.25
John Peppett	21	2	89	3	29.67
Seb Hunter-Ward	4	1	31	1	31.00
Haseeb Ashraf	3	0	33	1	33.00
Harry Hayes	14	1	76	2	38.00
Hari Nagarajan	41	1	270	7	38.57
Paddy Ashton	13	0	88	2	44.00
Jagadeesan Rangaraj	8	0	44	1	44.00
Raja Palaniappan	8	0	51	1	51.00
Saiteja Reddy	5	0	53	1	53.00
Alwin Rasul	4	0	53	1	53.00
Naveed Malik	22	2	112	2	56.00
Jason Lee	39	2	218	3	72.67
Rohith Reddy	9	0	90	0	0.00
Tru Patel	9	0	90	0	0.00
Sajjad Hussain	8	1	59	0	0.00
Naveed Aslam	6	1	24	0	0.00
Ravi Hindocha	6	0	54	0	0.00
Hassan Nadem	5	0	25	0	0.00
James Hayes	4	0	12	0	0.00
Matt Dickson	4	0	36	0	0.00
Azeem Akhtar	4	0	39	0	0.00
Sam Stride	1	1	6	0	0.00

2nd XI batting – ordered by runs.

Player	GAMES	INNS	NOT OUTS	RUNS	HIGH SCORE	AVG
James Hayes	7	7	0	323	121	46.14
Andy Lee	5	5	2	252	84	84
David Raeburn	10	9	2	188	47	26.86
Ryan Luke	9	8	2	181	60	30.17
Courtney Wise	10	9	1	171	72	21.38

Peter Raeburn	8	8	2	122	34	20.33
Tim White	7	7	1	77	25	12.83
Steve Fowles	7	5	1	71	44	17.75
John Peppett	10	6	4	68	28	34
Sam Davis	3	3	1	65	28	32.5
Jason Hawkridge	9	7	1	55	19	9.17
lan Dyde	4	4	0	55	30	13.75
Paul Dyde	6	3	0	40	27	13.33
Lawrence Geere	4	4	1	8	6	2.67
Andy Codling	3	3	0	1	1	0.33

2^{nd} XI bowling -ordered by wickets.

Player	OVERS	MAIDENS	RUNS	WICKETS	BEST BOWLING	AVERAGE
David Raeburn	69	13	232	25	5/14	9.28
Dave Hill	60.3	10	255	15	3/16	17
Seb Hunter-Ward	33	5	83	11	6/9	7.55
John Peppett	72	16	173	10	2/21	17.3
Andy Lee	26.4	2	117	6	4/22	19.5
Ryan Luke	18	1	125	5	3/51	25
Frankie Harding	13.4	1	64	4	3/26	16
Jason Lee	3	1	6	3	3/6	2
James Hayes	9.5	1	60	3	2/19	20
Subash Pittala	11	1	66	3	2/44	22
lan Dyde	24	0	134	3	1/23	44.67

Fielding

Player	WICKET KEEPING CATCHES	STUMPINGS	FIELDING CATCHES	TOTAL CATCHES	TOTAL VICTIMS
Azeem Akhtar	2	0	17	19	20
Haseeb Ashraf	6	2	8	14	16
James Pickard	1	0	14	15	15
Sam Stride	7	2	3	10	12
Jason Hawkridge	7	2	0	7	9
Harry Lee	0	0	7	7	8
Kaiz Ul Haq	0	0	8	8	8
Izhar Ahmed	4	0	0	4	5
Michael Gurney	0	0	5	5	5
John Peppett	0	0	5	5	5
Jason Lee	0	0	5	5	5
Rohith Reddy	0	0	4	4	4
James Hayes	1	0	3	4	4

Callum McCarthy	0	0	3	3	4
Owais UI Haq	0	0	4	4	4
Junaid Ashiq	0	0	3	3	4
Peter Raeburn	0	0	4	4	4
Ryan Luke	0	0	4	4	4
Andy Lee	0	0	3	3	3
Paul Dyde	0	0	3	3	3
Ian Dyde	0	0	3	3	3

Highest Partnerships

Runs	Wkt	Players Involved	Team	Match Date	Opposition
250	4	Azeem Akhtar & Michael Gurney	Sunday Friendly XI	21-May	Full Tossers CC, Bucks - 1st XI
151	5	Michael Gurney & Azeem Akhtar	1st XI	27-May	Old Owens CC - 2nd XI
140*	4	Azeem Akhtar & Haseeb Ashraf	Sunday Friendly XI	04-Jun	Chinar CC - 1st XI
118	1	James Pickard & Harry Lee	Sunday League XI	28-May	St Albans CC - Sunday 1st XI
107	1	James Pickard & Harry Lee	1st XI	24-Jun	Luton Town & Indians CC - 2nd XI
103	1	James Pickard & Harry Lee	1st XI	17-Jun	Ampthill Town CC - Saturday 2nd XI
93	6	Azeem Akhtar & Haseeb Ashraf	Sunday League XI	09-Jul	Watford Town CC - Sunday 1st XI
89	3	Haseeb Ashraf & Kaiz Ul Haq	Sunday League XI	23-Jul	Bharat Olympians CC - Sunday 1st XI
84*	1	James Pickard & Harry Lee	1st XI	20-May	Frogmore CC - 1st XI
77	6	Michael Gurney & Haseeb Ashraf	1st XI	17-Jun	Ampthill Town CC - Saturday 2nd XI
75	1	James Pickard & Sam Stride	1st XI	19-Aug	Ampthill Town CC - Saturday 2nd XI
74	3	Azeem Akhtar & Sajjad Hussain	Sunday Friendly XI	04-Jun	Chinar CC - 1st XI
72	1	Sajjad Hussain & Jess Harding	Sunday Friendly XI	04-Jun	Chinar CC - 1st XI
69*	8	- Gotham & Azeem Akhtar	Sunday Friendly XI	13-Aug	Wendover CC - Friendly XI
67*	7	James Pickard & Ian Dyde	1st XI	23-Sep	Luton Caribbean CC - Friendly XI
66	7	John Peppett & Michael Gurney	2nd XI	29-Apr	Watford Town CC - 3rd XI
65	1	James Pickard & James Hayes	1st XI	22-Apr	Fulmer CC - Friendly XI

64	6	Michael Gurney & Azeem Akhtar	1st XI	22-Apr	Fulmer CC - Friendly XI
61	2	James Pickard & Azeem Akhtar	1st XI	23-Sep	Luton Caribbean CC - Friendly XI

All statistics rely solely on the accuracy of the completed scoresheets for each match, which often leaves much to be desired. Theses stats reflect what was recorded on the sheets and not necessarily what happened!